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1. (3pts) Use the Laplace transform method to solve the following initial value problem:
y' = 3y,y(0) = 2.
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2. (3 pts) Transform the following differential equation using the Laplace transform. Solve the
transformed equation. (That is, solve for Y (s); do not “undo” the transform to find y(t).)

y" — 2y +5y = 0,y5(0) =2,4(0) = 1.
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3. (4 pts) Show directly from the definition of Laplace transform that the Laplace transform of
e3tf(t) is F(s — 3), where F(s) is the Laplace transform of f(%).
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4. (2pts EC) If F(s) = (s&ST_)FZ’l-F@’ what is f(t), the inverse Laplace transform of F'(s).
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1. (3pts) Use the Laplace transform method to solve the following initial value problem:

y = 4y,y(0) = 3.
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2. (3 pts) Transform the following differential equation using the Laplace transform. Solve the
transformed equation. (That is, solve for Y (s); do not “undo” the transform to find y(t).)

y"' — 2y +4y = 0,9(0) = 1,5’(0) = 2.
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3. (4 pts) Show directly from the definition of Laplace transform that the Laplace transform of
e?f(t) is F(s —2), where F(s) is the Laplace transform of f(t).
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4. (2pts EC) If F(s) = (SL_“‘;;%%, what is f(t), the inverse Laplace transform of F(s).
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